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	Pg
	Error
	Correction

	402
	Chapter 12, CramSaver, Question 3, Answer D description
Reads:

D. (config-if)#channel-group1 mode on
	Should read:
D. (config-if)#channel-group 1 mode on



Corrections for May 2, 2014
	Pg
	Error
	Correction

	114
	Chapter 3, Answer to Question 3, Last Sentence to answer 3

Reads:

Answer D is wrong because the IPv6 address is missing the :: to make it the correct 64-bit length.
	Should read:

Answer D is wrong because the IPv6 address lists :OOOFF: and this portion of the answer should be OOFF; which would leave the answer incorrect due to the missing the :: to make it the correct 64-bit length.

	219
	Chapter 6, Last Paragraph, Third Sentence

Reads:

DTP frames are not sent or acknowledged
	Remove sentence

	253
	Chapter 7, Third Paragraph, First Sentence

Reads:

To determine the best path, OSPF uses a metric call cost, which Cisco defines as 108/Bandwidth.
	Should read:

To determine the best path, OSPF uses a metric call cost, which Cisco defines as 10^8 / Bandwidth.

	254
	Chapter 7, Figure 7.8, Domain

Reads:

172.16.0.0/22
	Should read:

172.16.0.0/12

	282
	Chapter 8, Figure 8.5 Under PC-Right, IPv4 and IPv6

Reads;

IPv4: 10.0.0.2/24

IPv6: 2001::2/64
	Should read:

IPv4: 20.0.0.2/24

IPv6: 2002::2/64




	286
	Chapter 8, Cram Quiz Answers, Answer 3, Third Sentence

Reads:

The Windows host is on the 10.67.82.0/22 subnet, which has a range of 10.67.82.1 to 10.67.83.254, which means that the server is on the same local subnet.
	Should read:

The Windows host is on the 10.67.80.0/22 subnet, which has a range of 10.67.80.1 to 10.67.83.255, which means that the server is on the same local subnet.

	287
	Chapter 8, Figure 8.10 Under PC-Right, IPv4 and IPv6

Reads;

IPv4: 10.0.0.2/24

IPv6: 2001::2/64
	Should read:

IPv4: 20.0.0.2/24

IPv6: 2002::2/64



	291
	Chapter 8, Answer 10, First Sentence

Reads:

3. Answer C is correct.
	Should read:

3. Answer D is correct.

	349
	Chapter 10, Answer 4, First Sentence

Reads:

4. Answer C Is correct.
	Should read:

4. False. 
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